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1. Answer any one question from the following: 4x1=4

RS Q-G g8 eivg Seawe:

(a) Ram used to buy egg-rolls regularly. After he got a good pay like his demand for
egg-rolls fell sharply. What might be the possible shape of Ram’s Engel curve for
egg-rolls?
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(b) Differentiate between isocline and a ridge line.

G b SRR (isocline) @ GFb “RACO ez Wy AN o wat

(c) Suppose the total cost function is given by C=16+Q>. Illustrate the shape of
average cost and marginal cost curves in a diagram.

A I G I IFFO B C =16+ 0% 1 9F0 @D 7! 9T 7 ¢ i 7
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(d) Use demand and supply curves to show unstable equilibrium and explain.
BifER @R Q@IAN (9 IR FCE AEeT i (Unstable equilibrium) (rate @ag

RINARZEL
(e) Show that the expansion path for a Cobb-Douglas production function is a

straight line through the origin.
18 (T TG TLAH SCHCRFA (g T 91 &7 [Rpall S e A

2. Answer any one question from the following: 6x1 =6

fRRS @- (I @i 2 Ted e
(a) How can you distinguish between the Hicks approach 'and. Slutsky’g approach to
decompose the price effect into income effect and substitution effect?
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(b) Argue whether the following statements are true or false:

Frerfve Sferaff fi< it ot ot I Rom s

(i) Ordinary demand curve is more elastic than the compensated demand curve-
ISR T o) At 1R et o wifet o (o oo 0719

(ii) The sum of own-price elasticity, income-elasticity and cross price elasticity
of demand is zero.

(X I T 51t Wiwste oo, imofs fafeiieel @y wArRr=iise wre
Fefewemror et < 23

3. Answer any one question from the following:
FafiRe Q-G @ et Tag e

(a) Exp'lzfin. the concept of stability of equilibrium. Is a Marshallian stable
equilibrium necessarily Walrasian stable? Explain your answer.

IR 30 I o7 Qi 7 @ STy wpfer-aq e 7%, ©f R Gaiemi-
a1 o s 2971 SRR 9 G

(®) The production function is X = AK®1P where o+ B<]1.

(i) Show thgt there are decreasing returns to scale and prove that the total

prodL.lct Is greater than k times the marginal product of K plus / times the
marginal productivity of L where k and / are quantities of the factors K and L
respectively.
R @I Beritna o X = 4K (el Bitg, QI o+ f<1 1 (e @
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(ii) What is elasticity of factor substitution? Prove that the elasticity is unity for
Cobb-Douglas technology. Is the assumption of constant returns to scale
necessary for your proof?

ol RewRe fogeieel e & @RI 9 @M I @ Cobb-Douglas
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(¢) (I) Suppose Rakhi views butter and margarine perfectly substitutes for each

other.

! I AR A T T4 6 M 90 Sieies 7ff #1fae|

(i) Draw a set of indifference curves that describes Rakhi’s preference
pattern for butter and margarine.
OIq eI @l 7R o el |

(ii) Are these indifference curses convex? Why?
@3 e Ref e 2 (9 9

(iii) If butter costs Rs. 20 per pack and margarine costs Rs. 10 per pack and if
Rakhi’s money income is Rs. 200, which butter-margarine basket will she

choose? Can you show your answer graphically?
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(]]) A Consu;
me .
of X by Rg.sge?::vher Income on two goods X and Y. If an increase in pr lice
elasticity of 4 emandi‘(s)rh;rr; consumption of Y unchanged, what is the price
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(i) Derive th
fom ot lf long-run average cost and long-run marginal cost curves e
€ above production function.

Q=ALaKl-a-Lﬂ3%Q9ﬂ’m /e ~
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ii : )
(®) r/(l;alt is the expansion path of a firm? Is there a link between expansion path
nd long-run cost of production? — Explain.

T v Rt o1 p 0 o1 & R Seiive R (1 P W0 7 2
R
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[Full Marks: 25]
4x1=4

4. Answer any one question from the following:
fAsfeiRe @-eT W@ o elrea Tea mas
(a) How are inventories treated in National Income accounting?
SIS SR Wi el Tgo A0 eir sl 341 28 2

(b) If I=1+ay, what is the stability condition in an otherwise Keynesian cross

model?

nﬁ1=1+q1,~®m@ﬁﬂﬁﬂwmmﬁmﬁﬁﬁm?

(c) Distinguish between CPI and GDP deflator?
core! w7 ¢ f& % A fergba @7 50 i) el el

(d) What is meant by classical dichotomy?

i faReTem” Fe (% Q@ ?

(e) How does an adverse supply shock affect the economy?
oifeg i wifewo fFeld e 2o T ?

(f) What is paradox of thrift?
Rro gftioR wisire Rl T 3617
Answer any one question from the following: 6x1 =6
e (- «F 15 &0 Ted TIes
te a note on the impact of technological progres

assical model.
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Budget multiplier using 18-LM model and
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TV —— e following circumstances:
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al Bank raises money s .
B oney supply through open market operations.
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() Government rais | |
raises tax but Keeps o
monetary policy t keeps the rate of interest unchanged through
) TR T SR TR o0 w9 SR anew i w0 99 i w0
(b) “Fiscal and anv policies differ i v in e -
L monetary policies differ in their impact on the composition of
aggregate national output.™ — Explain. \
‘T SO SIEE SICE TUF SR e o5 awae ¢ ke Mfew wug ok
o I - IR FE
(D) Explain the Keynesian concept of underemployment equilibrium. 7

7+8

N

©)
(i) Compare the effectiveness of Fiscal policy between IS-LM model and N
complete Keynesian model.
[S-LM &= &) rﬁ“@ﬁﬁmmﬁmﬁﬁiﬁﬂwﬁﬁwm'
748

(d) Write notes on the following:

PP N .
ICEIRIES ]]RIC=S I (RIE

(i) Liquidiry trap
(i) Equilibrium rate of interest in the Classical model.
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